Kayla rakes (4 piles of leaves in her front yard and |5 piles of leaves in
her backyard. How many piles of leaves does Kayla rake in all?

Kayla rakes piles of leaves in all.

Circle the letter beside the statement that best describes what is
happening in the pattern. 12, 10, 13, |1, 14, 12, 15, 13, 16, 14, 17

A. First, 3is added. Then, 2 is subtracted.
B. First, 2 is subtracted. Then, 2 is added.
C. First, 2 is subtracted. Then, Y is added.
D. First, 2is subtracted. Then, 3 is added.
16 + 22 =
8l + 13 =

52 + 10 =

Lesson 48 D/W\/\/\/\/\/\/\/\

Write the name of each missing animal to complete the pattern.

There are 17 turtles and 9 rabbits in q race. If 4 turtles do not finish the
race, how many turtles do finish the race?

-

turtles do finish ’rfhe race.

35+ 13 =
4+ 3=

T-1=
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